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import sys
sys.path.append("statlib")
from xtest import Fligner_ Killeen_test

Fligner_Killeen_test(x, g, verbose=True)
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import sys
sys.path.append("statlib")



from xtest import Fligner_Killeen_test

a = Fligner_Killeen_test(
(3, 2, 4, 2, 3, 5, 4, 3, 3, 1, 3, 4, 5, 4, 5],
(L, 1, 2, 1, 3, 3,1, 3,1, 2, 2, 2, 1, 2, 21)

Fligner-Killeen test of homogeneity of variances

chisq = 0.083559, df = 2, p value = 0.95908
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b = Fligner_Killeen_test(
[3’ 2! 47 2! 3! 51 4’ 3! 3! 17 3! 4! 57 4’ 5]’
["a", "a", "b", "a", "c", "c", "a", "c", "a", "b",

Ilbll, "b", Ilall, "b", Ilbll])

Fligner-Killeen test of homogeneity of variances

chisq = 0.083559, df = 2, p value = 0.95908
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c = Fligner_Killeen_test([[3, 2, 2, 4, 3, 5],
[4, 1, 3, 4, 4, 51,
[3, 5, 31D

Fligner-Killeen test of homogeneity of variances
chisq = 0.083559, df = 2, p value = 0.95908
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from scipy.stats import fligner
fligner([3, 2, 2, 4, 3, 5],

(4, 1, 3, 4, 4, 57,

[3, 5, 31D

FlignerResult(statistic=0.08355913972223177, pvalue=0.9590811676685755)



